
1. This Booklet contains five tests as follows :
Test I - English Language Q.Nos. 1–30
Test II - Quantitative Aptitude Q.Nos. 31–65
Test III - Reasoning Q.Nos. 66–100

2. You will be given an aggregate time of 1:00 hours to
answer all the three tests. The tests are not separately
timed. You may distribute the time as you please but
remember that to qualify in the written test as a whole
you have to qualify on each of the three tests separately.

3. Tests of Reasoning  and Quantitative Aptitude are
printed in both Hindi and English. The Hindi version is
printed on the left hand side page and the English version
on the right hand side page.

4. There will be penalty for wrong answers marked by you.
For each question for which a wrong answer has been
given by you, one-fourth or 0.25 of the marks assigned
to that question will be deducted as penalty.

5. Rough work, if you want to do any, is to be done in this
booklet itself and not on the answersheet. For this
purpose use the empty space in the margin or anywhere
else you find in this booklet. Do not use any other paper.

6. Indicate your answers on the separate answersheet
(given at the end of the booklet), using HB Pencil. Follow
the instructions given on the answersheet for indicating
your answers.

7. Your answersheet contains answer-spaces for answering
100 questions. Use 100 answer spaces for answering the
100 questions given in this booklet.

8. Do not open the booklet Until you are told to do so.
When the instruction for opening the booklet is given,
do not try to remove the wire staples at the left. Insert
the blunt end of your pencil under the sticker and tear it
to open the booklet.

9. Immediately after opening the booklet, verify that all the
pages containing questions from 1 to 100 are properly
printed in your booklet and then begin answering the
test. In case the booklet is defective get it replaced by
another test booklet.
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Read the directions (given below) carefully.

1. bl  i qfLr dk esa fuEufyf[ kr  i kap i z' ukofy; ka gSa %
i z' ukoyh I - vaxzst h Hkk"kk i z-Ø- 1–30
i z' ukoyh II - l a[ ; kRed vfHk; ksX; r k i z-Ø- 31–65
i z' ukoyh III - r dZ' kfDr i z-Ø- 66–100

2. bu pkj  i z' ukofy; ksa ds mÙkj  nsus ds fy,  vki dks dqy 1:00 ?kaVs dk
l e;  fn; k t k, xkA i z' ukofy; ksa ds fy,  vyx&vyx l e;  ugha gSA
vki  vi uh bPNk ds vuql kj  l e;  dk l afoHkkt u dj  l dr s gSa] i j ar q
vki dks Lej .k j [ kuk pkfg,  fd bl  i j h{kk esa l Qy gksus ds fy,
vki dks r huks i z' ukofy; ksa esa vyx&vyx l Qy gksuk vko' ; d gSA

3. r dZ' kfDr  vkSj  l a[ ; kRed vfHk; ksX; r k dh i z' ukofy; ka fgUnh vkSj
vaxzst h nksuksa Hkk"kkvksa esa Ni h gqbZ gSaA fgUnh : i kUr j  ck, a r j Q ds i Uus
i j  vkSj  vaxzst h nkfgus r j Q ds i Uus i j  Ni s gq,  gSaA

4. vxj  vki  xyr  mÙkj  nsaxs r ks naMLo: i  vki ds vadksa esa dVkSr h dh
t k, xhA , sl s fdl h Hkh i z' u ds fu/kkZfj r  vadksa esa l s] ft l dk vki us
xyr  mÙkj  fn; k gS] naM ds : i  esa , d&pkSFkkbZ ; k 0.25 vad dkV
fy,  t k, axsA

5. j Q dke] ; fn vki  dj uk pkgsa] r ks bl  i qfLr dk esa gh dj uk pkfg,
u fd mÙkj i =k i j A bl  gsr q gkf' k,  dh vFkok vU; =k mi yC/k [ kkyh
t xg dk mi ; ksx dhft ,  vU;  fdl h dkxt  dk mi ; ksx u dhft , A

6. vi us mÙkj  vyx mÙkj i =k i j  , p-ch- i sfUl y dk i z; ksx dj  n' kkZb, A
mÙkj  n' kkZus ds fy,  mÙkj i =k esa fn,  x,  vuqns' kksa dk i kyu dhft , A

7. vki ds mÙkj i =k esa mÙkj  n' kkZus ds fy,  100 mÙkj LFkku gSaA bl
i qfLr dk esa fn,  gq,  100 i z' uksa ds mÙkj  nsus ds fy,  100 mÙkj LFkkuksa
dk mi ; ksx dhft , A

8. t c r d funsZ' k u feys bl  i qfLr dk dks er  [ kksfy, A i qfLr dk
[ kksyus dk funsZ' k feyus i j  i qfLr dk ds ck, a fdukj s i j  yxs gq,  eqM+s
gq,  r kj  fudkyus dk i z; kl  u dj saA i safl y ds fi Nys Hkkx dh enn
l s nkfguh r j Q yxs LVhdj  dks QkM+dj  i qfLr dk dks [ kksysaA

9. i qfLr dk [ kksyr s gh t kap yhft ,  fd l Hkh i "̀B ft u i j  i z' u 1 l s
100 gSa] l gh i zdkj  l s Ni s gq,  gSa vkSj  fQj  i z' ukofy; ksa ds mÙkj  nsuk
i zkj aHk dhft , A ; fn i qfLr dk nks"ki w.kZ gks r ks bl s ml h i z' ukoyh i zk: i
Øekadokyh nwl j h i z' ui qfLr dk l s cnyok yhft , A
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Test I
English Language

Directions (Q. 1-5) : Read each sentence to find out whether there is any grammatical or idiomatic error in it. The
error, if any, will be in one part of the sentence. The  number of that part is the answer. If there is “No error”, the answer
is 5). (Ignore errors of punctuation, if any.)

1. 1) India took a big step forward on the road/ 2) to reform as a recently brokered political detente held and the Rajya
Sabha/ 3) voted to approve the Constitutional amendment that will/ 4) help usher into the goods & sevice tax./ 5) No
error.

2. 1) The regulator is of the view that bank guarantee provided/ 2) by Diageo to Mallya was a financial benefit/ 3) and by
not factoring that into the acquisition price/ 4) it had acted against the interests of the minority shareholders./ 5) No
error.

3. 1) Hiring engineering graduates from leading institutes is about to/ 2) turn tough for e-commerce companies, particularly
startups/ 3) after some of them failed to make good on the offers they had/ 4) made in the previous rounds of recruitments../
5) No error.

4. 1) Baring Asia, among the continent's biggest buyout funds, has reversed it stance/ 2) on ICICI Home Finance and
launch a dramatic, last-minute counter-bid/ 3) to wrest control of the firm, throwing a spanner/ 4) in the plans of
American private equity giant TPG./ 5) No error.

5. 1) This is expected to reduce logistics costs by removing barriers to trade, laying the stage for/ 2) more competitive
manufacturing, it will also provide a smooth input tax/ 3) credit mechanism, ensuring each entity pays tax only on the /
4) value added or quantum of consumption, resulting in lower prices. 5) No error.

Directions (Q. 6-10) : Rearrange the following five sentences (A), (B), (C), (D) and (E) in the proper sequence to form
a meaningful paragraph and then answer the questions given below.

(A) Opposition parties have opposed the EPFO's move to raise exposure to equities to ostensibly protect workers'
interest.

(B) Further, the National pension System (NPS), which invests in equity, generates superior returns for its subscribers.

(C) They must see the reason that, equities tend to fetch better returns than government bonds in which the EPF
mostly invests, and will help workers grow their retirement nest.

(D) Its corpus of about ̀  10 lakh crore is large enough to be invested across risk classes to minimise risk and maximise
returns.

(E) Now, the EPFO invests only 5% of its incremental deposits every month in exchange-traded funds tracking
benchmark indices Sensex and Nifty, though rules allow a maximum 15% of exposure to stock markets, a higher
exposure makes sense.

6. Which of the following would be the FIRST sentence after rearrangement ?
1) A 2) B 3) C 4) D 5) E

7. Which of the following would be the SECOND sentence after rearrangement ?
1) A 2) B 3) C 4) D 5) E

8. Which of the following would be the THIRD sentence after rearrangement ?
1) A 2) B 3) C 4) D 5) E

9. Which of the following would be the FOURTH sentence after rearrangement ?
1) A 2) B 3) C 4) D 5) E

10. Which of the following would be the FIFTH (LAST) sentence after rearrangement ?
1) A 2) B 3) C 4) D 5) E

Directions (Q. 11-15) : Each questions below has two blanks, each blank indicating that something has been omitted.
Choose the set of words for each blank that best fits the meaning of the sentence as whole.

fg
abhiram

fg
abhiram
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11. To accomplish anything, one must not only ________ certain positive qualities but also _______ certain negative
qualities.
1) attain, diverge 2) chase, absquatulate 3) obtain, withdraw
4) inherit, stray 5) acquire, avoid

12. With the Constitutional Amendment Bill passed in the Rajya Sabha, _________ India is keen to ________ the historic
development in the country's indirect tax regime.
1) corporate, witness 2) ecumenical, combat 3) solidarity, disproof
4) independent, cope 5) concord, confront

13. The Congress has been politically adroit: It cannot any longer be ______ obstructionist and the onus of ________
GST now falls squarely on the centre.
1) consigned, vetoing 2) remitted, objects 3) labelled, implementing
4) inscribed, banning 5) addresed, baring

14. The productivity of pulses in India has ________ almost _________ at 5.5-7.5 quintals per hectare during the last 50
years or so.
1) pushed on, volatile 2) remained, stagnant 3) vamoosed, precarious
4) moved, whimsical 5) bailed, transient

15. The robust service sector data was _______ by a healthy growth shown by the factory sector, data _______ by the
same agency showed that India's manufacturing activity was at a four month high.
1) slagged, smothered 2) disparaged, regulated 3) slashed, restrained
4) complemented, released 5) deprived, governed

Directions (Q. 16-25) : Read the following passage carefully and answer the given questions. Certain words/phrases
have been given in bold to help you locate them while answering some of the questions.

Recently 110 Nobel Laureates issued a strongly worded plea to Greenpeace to “abandon their campaign against
[genetically modified organisms] in general and Golden Rice in particular.” This is not the first time notable scientists have
waded into the controversy surrounding genetically modified (GM) crops. What is remarkable about this latest foray,
however, is their poor grasp of the facts surrounding Golden Rice.

Golden Rice is an orange-yellow-coloured rice, genetically modified to produce beta-carotene, the precursor of
Vitamin A. Advocates claim it is a powerful way to combat Vitamin A deficiency, the cause of diseases like childhood
blindness, and deaths, particularly among the poor in Africa, South and Southeast Asia. Golden Rice was first developed
around 1999 by two European scientists, Ingo Potrykus and Peter Beyer. The transnational agribusiness corporation Syngenta
currently holds commercial rights to it. Moved apparently by humanitarian sentiments, Syngenta decided in 2004 to sub-
license it free of charge (subject to several conditions, not all of which are straightforward) to agricultural research institutions
in developing countries, through an entity named the Golden Rice Humanitarian Board. The project of taking Golden Rice to
developing countries is housed within the International Rice Research Institute (IRRI) in Philippines.

The Nobel Laureates argue that the reason this innovation has not started saving lives yet is Greenpeace’s criminal
opposition. This narrative of conspiracy glosses over the rather more straightforward explanation: As IRRI itself admits on
its website, Golden Rice is not ready for farmers, yet. There are above-board reasons for this which have little to do with anti-
GM activists.

The Laureates say that Golden Rice has “the potential to reduce or eliminate much of the death and disease caused by
Vitamin A deficiency” (emphasis added). At least two conditions need to be met for Golden Rice to work as hoped: it should
be suitable for cultivation by farmers; and it should be bio-available, that is, the digestive system should be able to extract the
beta-carotene and make it available to the body, thus improving Vitamin A levels.
The two versions of Golden Rice developed so far, Golden Rice 1 and 2, are both Japonica (sticky, dryland) rices, while people
in areas with Vitamin A deficiency in South and Southeast Asia generally cultivate and consume the non-sticky, submerged
Indica paddies. Japonica varieties are easier to modify genetically, but do not perform well in Asian fields. IRRI is still in the
process of crossing Golden Rice into Indica varieties. In 2014, IRRI stated, “Results of the first round of multi-location trials
of Golden Rice showed that… yields of candidate lines were not consistent across locations and seasons, prompting
research direction toward assessing [other] Golden Rice versions.”  This is hardly a rice ready for cultivation by farmers - it
has not even entered the stage of biosafety evalution by government regulatory institutions.



BSC Academy

4

The question of bioavailability is even more vexed. The body does not necessarily absorb beta-carotene because one
eats Golden Rice. The Golden Rice Humanitarian Board’s website quotes a study published in 2012 in The American Journal
of Clinical Nutrition for establishing the effectiveness of Golden Rice. On July 29, 2015, the journal retracted this paper citing
ethical concerns.

Even assuming that ethical concerns do not detract from the paper’s findings, the study design merits attention. The
study saw middle-income, healthy Chinese children consuming a total of 210 grams of pork and other foods over breakfast
and lunch daily, with 40 per cent of their total calorie intake coming from fat. Fats help the body absorb beta-carotene, since
the latter dissolves easily in fats. Unlike customary practice, the Golden Rice fed to the children had been stored at minus
70°C after drying for three days, to avoid any decline in beta-carotene levels with time. Thus, the study design favoured
Golden Rice, rather than reflecting the actual lives and habits of poor Asians and Africans, who generally cannot afford fat-
rich meals every day.

The Nobel Laureates accuse Greenpeace’s campaign of raising the regulatory bar for GM crops. The facts above suggest
that neither Greenpeace nor regulatory hurdles have delayed Golden Rice’s release. In fact, in 2009, the distinguished
biotechnologist, former Deputy Director-General (Crop Science) of the Indian Council of Agricultural Research, who had
worked on Golden Rice at IRRI, categorically stated, “The regulatory system is not the barrier to releasing Golden Rice in
India.” IRRI itself, in its last update released in 2014, said: “Golden Rice will only be made available broadly to farmers and
consumers if it is successfully developed into rice varieties suitable for Asia, approved by national regulators, and shown to
improve Vitamin A status in community conditions.”

Let us, for the moment, ignore the political aspects of Golden Rice and GM crops. Let us overlook the fact that many
sciences (other than physics, chemistry, and medicine represented in the letter) have something to contribute to the debate
over GM crops — in India, agricultural scientists, ecologists, nutritionists, and sociologists, among others, have insightfully
contributed to the debate

16. According to the passage, which of the following is the cause of Vitamin A deficiency?
 1) Childhood stone-blindness and death. 2) Childhood blindness.
3) Childhood blindness and malnutrition. 4) Childhood blindness, and infections.
5) Measles, diarrhoea, long sightedness and death.

17. Which of the following can be said about the international Rice Research Institute (IRRI)?
(A) IRRI's international prestige lends secondary to the country as the center for collaboration in rice reasearch.
(B) IRRI changes the lives of people providing beta-carotene.
(C) IRRI develops new rice varieties and rice crop management techniques that help rice farmers improve the yield and

the quality of rice.
1) Only A 2) Only B 3) Only C 4) Only A and B 5) Only B and C

18. Why is the Golden Rice being developed?

A) The Golden Rice is being developed to produce beta-carotene, the precursor of Vitamin A.

B) The Golden Rice is being developed to save lives.

C) The Golden Rice is being developed to save the life of children.

1) Only A 2) Only B 3) Only C

4) Only B and C 5) Only A and C

19. Which of the following is/are NOT TRUE in the context of the passage?

A) The Golden Rice will only be made, if it is successfully advanced into rice varieties suitable for Asia and approved by
national regulators and shown to improve Vitamin A.

B) The Golden Rice is bio-available and the digestive system is able to lay away the beta-carotene.

C) The Golden Rice has not entered the stage of biosafety evaluation by government regulatory institutions.
1) Only A 2) Only B 3) Only C 4) Only A and C 5) Only A and B
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20. What sufficiency does the Golden Rice has?
1) It has sufficieny to attenuate much of the death and disease caused by Vitamin A deficiency.
2) It has sufficiency to reflect the assessment of the varieties selected for introgression as well as 'golden' trait itself.
3) It is implicitly linked to a perceived reduction in public concern and the commercialisation of Bt corn.
4) It has sufficiency to change with the introduction of the golden trait since it is a direct response to beta-carotene.
5) It has sufficiency to deteriorate vitamin A levels among people.

Directions (Q. 21-23) : Choose the word which is MOST SIMILAR in meaning to the word/group of words printed in
bold as used in the passage.

21. DISTINGUISHED
1) Flighty 2) Frivolous 3) Goofy 4) Celebrated 5) Common

22. INTAKE
1) Absorption 2) Output 3) Outturn 4) Throughput 5) Production

23. CONSISTENT
1) Conflictive 2) Conflicting 3) Even 4) inharmonious 5) distinct

Directions (Q. 24-25) : Choose the word which is MOST OPPOSITE in meaning of the word printed in bold as used in
the passage.

24. VEXED
1) Soothing 2) Exasperated 3) Annoying 4) Aggravated 5) Placid

25. Glosses
1) Sleekness 2) Hides 3) Shimmers 4) Silkiness 5) burnishes

Directions (Q. 26-30) : In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate words to
make the paragraph meaningful.

The GST is now the compulsory levy, since income tax is on disclosure. No wonder IT revenue has long been (26)
behind indirect taxes that are far easier to (27). The government may well be (28) to touch the 18-20% tax band than the 14-
18%. With the government’s proven (29) on healthcare and welfare schemes, savings remains the nest egg for all but the
affluent. The GST load would largely be borne by the lower and middle income groups, significantly (30) their savings.

26. 1) opening 2) running 3) lagging 4) leaving 5) rushing

27. 1) recover 2) tinker 3) revamp 4) maintain 5) restore

28. 1) tempted 2) excited 3) offended 4) gladden 5) indulged

29. 1) volition 2) reluctance 3) readiness 4) inclination 5) willingness

30. 1) breaking 2) elevating 3) pausing 4) reducing 5) fragmenting
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Test II
Quantitative Aptitude

funsZ' k (i z- 31-35) : fuEufyf[ kr  l ehdj .kksa esa i z' uokpd fpUg~ ¼\ ½ ds LFkku i j  D; k eku vkuk pkfg, \

31. ?)30(29.53 2– 
1) 7240 2) 6570 3) 5670 4) 4540 5) buesa l s dksbZ ugha

32. 1335 dk 13% + 1135 dk ?% = 366.5
1) 11 2) 13 3) 15 4) 17 5) 19

33. 113
11

 of 85
7

 of 115260 = ?

1) 832 2) 848 3) 886 4) 904 5) buesa l s dksbZ ugha

34. 2786 + 105 × ? = 304 × 14
1) 12 2) 14 3) 16 4) 18 5) 22

35. ?10612083 
1) 108 2) 106 3) 102 4) 92 5) 104

funsZ' k (i z- 36-40) : fuEufyf[ kr  l a[ ; k Jà[ kyk esa i z' uokpd fpUg~ ¼\ ½ ds LFkku i j  D; k eku vkuk pkfg, \

36. 5 21 57 121 221 365 ?
1) 536 2) 561 3) 584 4) 604 5) 628

37. 5 49 481 3841 ?
1) 23041 2) 22031 3) 21021 4) 20011 5) 19001

38. 8 19 52 151 448 ?
1) 1120 2) 1148 3) 1236 4) 1284 5) 1339

39. 9801 9604 9409 9216 9025 ?
1) 8836 2) 8792 3) 8688 4) 8542 5) 8466

40. 339 733 1327 2201 3371 ?
1) 4677 2) 4757 3) 4837 4) 4917 5) 5007

41. , d nqdkunkj  , d Vhoh 35% ykHk i j  cspr k gSA ; fn og ml s ` 528 de esa cspr k r ks ml s 24% ykHk i zkIr  gksxkA 40% ykHk i zkIr
dj us ds fy,  ml s oLr q fdr us esa cspuh pkfg, \
1) ̀  6040 2) ̀  6480 3) ̀  6720 4) ̀  7210 5) buesa l s dksbZ ugha

42. j kgqy r Fkk vt ;  dh vkSl r  vk; q 51 o"kZ gSA vt ;  r Fkk fot ;  dh vkSl r  vk; q 36 o"kZ gS r Fkk j kgqy r Fkk fot ;  dh vkSl r  vk; q
43 o"kZ gS r ks 12 o"kZ ckn vt ;  dh vk; q dk fot ;  dh vk; q ds l kFk vuqi kr  esa gksxk\
1) 4 : 5 2) 7 : 5 3) 11 : 7 4) 9 : 8 5) 10 : 7

43. ` 7 yk[ k dh j kf' k i j  i gys o"kZ 5% dh nwl j s o"kZ 8% dh r Fkk r hl j s o"kZ 12% dh nj  l s 3 o"kZ dk pØòf)  C; kt  D; k gS\
1) ̀  163600 2) ̀  189056 3) ̀  194064 4) ̀  201040 5) buesa l s dksbZ ugha

44. ‘WEDNESDAY’ ' kCn ds v{kj ksa dks fdr us i zdkj  l s O; ofLFkr  fd; k t k l dr k gS r kfd l Hkh Loj  , d l kFk vk; s\
1) 7560 2) 15120 3) 2520 4) 5040 5) buesa l s dksbZ ugha

45. l kr  O; fDr  , d òÙkkdkj  est  ds pkj ksa r j Q cSBs gSA r hu fuf' pr  O; fDr ; ksa dh , d l kFk cSBus dh i zkf; dr k D; k gS\

1) 7
1

2) 7
2

3) 5
1

4) 5
2

5) 6
1

46. ; fn vk; r  dh yEckbZ esa 130% dh òf)  dh t k,  r ks bl ds {ks=kQy esa 828 oxZ l seh r Fkk i fj eki  162 l seh gks t kr k gS r ks okLr fod
vk; r  dk i fj eki  D; k gS\

1) 76 l seh 2) 84 l seh 3) 114 l seh 4) 120 l seh 5) buesa l s dksbZ ugha
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Test II
Quantitative Aptitude

Directions (Q. 31-35) : What should come in place of questions mark (?) in the following equations ?

31. ?)30(29.53 2– 
1) 7240 2) 6570 3) 5670 4) 4540 5) None of these

32. 13% of 1335 + ?% of 1135 = 366.5
1) 11 2) 13 3) 15 4) 17 5) 19

33. 113
11

 of 85
7

 of 115260 = ?

1) 832 2) 848 3) 886 4) 904 5) None of these
34. 2786 + 105 × ? = 304 × 14

1) 12 2) 14 3) 16 4) 18 5) 22

35. ?10612083 
1) 108 2) 106 3) 102 4) 92 5) 104
Directions (36-40) : What number should come in place of of questions mark (?) in the following number series ?

36. 5 21 57 121 221 365 ?
1) 536 2) 561 3) 584 4) 604 5) 628

37. 5 49 481 3841 ?
1) 23041 2) 22031 3) 21021 4) 20011 5) 19001

38. 8 19 52 151 448 ?
1) 1120 2) 1148 3) 1236 4) 1284 5) 1339

39. 9801 9604 9409 9216 9025 ?
1) 8836 2) 8792 3) 8688 4) 8542 5) 8466

40. 339 733 1327 2201 3371 ?
1) 4677 2) 4757 3) 4837 4) 4917 5) 5007

41. A shopkeeper sold a TV at a profit of 35%. Had he sold it for ̀  528 less, he would have gained 24%. For what price should
he sell it in order to gain 40% ?
1) ̀  6040 2) ̀  6480 3) ̀  6720 4) ̀  7210 5) None of these

42. The average age of Rahul and Ajay is 51 years. The average age of Ajay and Vijay is 36 years and the average age of
Rahul and Vijay is 43 years. What will be the ratio of the age of Ajay to the age of Vijay after 12 years ?
1) 4 : 5 2) 7 : 5 3) 11 : 7 4) 9 : 8 5) 10 : 7

43. What is the compound interest on ̀  7 lakh for three years if the rate of interest is 5% for the first year, 8% for the second
year and 12% for the third year ?
1) ̀  163600 2) ̀  189056 3) ̀  194064 4) ̀  201040 5) None of these

44. How many difference arrangements can be made from the letters of the word ‘WEDNESDAY’ such that all  vowels come
together ?
1) 7560 2) 15120 3) 2520 4) 5040 5) None of these

45. Seven persons are sitting around table. What is the probability that three particular persons are sitting together?

1) 7
1

2) 7
2

3) 5
1

4) 5
2

5) 6
1

46. If the length of a rectangle is increased by 130%, its area becomes 828 sq cm and perimeter 162 cm. What is the perimeter
of the original rectangle ?
1) 76 cm 2) 84 cm 3) 114 cm 4) 120 cm 5) None of these
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47. nks LFkku A r Fkk B ds chp dh nwj h 600 fdeh gSA , d j syxkM+h A l s B ds fy,  r Fkk ml h l e;  vU;  j syxkM+h B l s A ds fy,  j okuk
gksr h gSA nksuksa j syxkM+h vi uh ; k=kk dh ' kq#vkr  ds vkB ?kaVs ckn , d nwl j s l s feyr h gSA A l s B dh r j Q t k j gh j syxkM+h] vU;
j syxkM+h l s 15 fdeh@?kaVk dh pky l s vf/kd r st h l s t kr h gS r ks /khj s pyus okyh j syxkM+h dh pky r st  pyus okyh j syxkM+h
dh pky l s vuqi kr  D; k gS\
1) 2 : 5 2) 2 : 3 3) 3 : 5 4) 7 : 8 5) buesa l s dksbZ ugha

48. A, B r Fkk C fdl h dk; Z dks Øe' k% 30 fnu] 45 fnu r Fkk 60 fnu esa dj  l dr s gSA os , d l kFk dk; Z dj uk ' kq# dj r s gS i j Ur q A
10 fnu ckn dk; Z NksM+dj  pyk t kr k gSA B, dk; Z i wj k gksus l s i k¡p fnu i gys dk; Z NksM+dj  pyk t kr k gS r ks dk; Z fdr us fnu
esa i w.kZ gksxk\
1) 30 fnu 2) 28 fnu 3) 25 fnu 4) 24 fnu 5) 20 fnu

49. r hu O; fDr  A, B r Fkk C 11 fnu esa , d l kFk feydj  ` 3905 dekr s gSA A r Fkk C 13 fnu esa , d l kFk feydj  ` 3055 dekr s gSA
B r Fkk C 17 fnu esa , d l kFk feydj  ` 4760 dekr s gS r ks A } kj k 15 fnu esa dekbZ xbZ j kf' k dk 60% D; k gS\
1) ̀  960 2) ̀  840 3) ̀  720 4) ̀  675 5) buesa l s dksbZ ugha

50. , d dkj  P l s Q r d i gq¡pus esa 33 ?kaVs ysr h gSA ; fn pky dks 10 fdeh@?kaVk de dj  fn; k t k,  r ks og l eku nwj h r ;  dj us
esa 55 ?kaVs dk l e;  ysxhA P r Fkk Q ds chp dh nwj h D; k gS\
1) 775 fdeh 2) 800 fdeh 3) 825 fdeh 4) 850 fdeh 5) 875 fdeh

funsZ' k (i z- 51-55) : fuEufyf[ kr  ykbu xzkQ esa fofHkUu fo| ky; ksa l s i zFke Js.kh nwl j h Js.kh r Fkk r hl j h Js.kh esa mÙkhZ.k gksus
okys fo| kfFkZ; ksa ds i zfr ' kr  dks n' kkZ; k x; k gSA r kfydk esa fofHkUu fo| ky; ksa esa r hl j h Js.kh esa mÙkhZ.k Nk=kksa dh dqy l a[ ; k dks
n' kkZ; k x; k gSA

36

50

30 35

42

20

32

40 40

30

35

44

20
15

40

2625

40

0

10

20

30

40

50

60

A B C D E F

Schools

1st class 2nd class 3rd class 

School Number of Students
passing in 3rd class

A 35

B 36

C 100

D 80

E 78

F 130



BSC Academy

9IBPSPO-PT-B-015

47. Two places A and B are 600 km apart. A train leaves A for B and at the same time another train leaves B for A. Both the
trains meet after eight hours of starting their journey. If the train travelling from A to B travels 15 kmh–1 faster than the
other train, what is the ratio of the speed of the slower train to the speed of the faster train ?
1) 2 : 5 2) 2 : 3 3) 3 : 5 4) 7 : 8 5) None of these

48. A, B and C can do a work in 30 days, 45 days and 60 days respectively. They started the work together but A left after
10 days. B left the work five days before the completion of the work. In how many days was the work completed ?
1) 30 days 2) 28 days 3) 25 days 4) 24 days 5) 20 days

49. Three persons A, B and C together earn ̀  3905 in 11 days. A and C together earn ̀  3055 in 13 days. B and C together earn
` 4760 in 17 days. What is 60% of the earning of A in 15 days ?
1) ̀  960 2) ̀  840 3) ̀  720 4) ̀  675 5) None of these

50. A car travels from P to Q in 33 hours. If the speed is reduced by 10 kmh–1 it will  cover the same distance in 55 hours. What
is the distance between P and Q ?
1) 775 km 2) 800 km 3) 825 km 4) 850 km 5) 875 km

Directions (Q. 51-55) : Following line graph shows the percentage of students who passed in 1st class, 2nd class and
3rd class in an exam. The table shows the number of students who got 3rd class in the exam from different schools.
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51. i j h{kk esa dqy mÙkhZ.k gq,  Nk=kksa dh l a[ ; k r Fkk i zFke Js.kh i zkIr  dj us okys fo| kfFkZ; ksa dh l a[ ; k ds chp dk var j  D; k gS\
1) 1043 2) 1045 3) 1047 4) 1049 5) 1051

52. r hl j h Js.kh l s mÙkhZ.k gksus okys fo| kfFkZ; ksa dh dqy l a[ ; k] mÙkhZ.k gkssus okys dqy fo| kfFkZ; ksa dh l a[ ; k dk fdr us i zfr ' kr  gS\
1) 26.5% 2) 27.5% 3) 28.5% 4) 29.5% 5) 30.5%

53. i zFke Js.kh i zkIr  dj us okys fo| kfFkZ; ksa dh l a[ ; k fdl  fo| ky;  esa vf/kdr e gS\
1) A 2) B 3) C 4) E 5) F

54. l Hkh N% fo| ky; ksa esa , dl kFk feykdj  ; k r ks i zFke ; k r hl j h Js.kh i zkIr  dj us okys fo| kfFkZ; ksa dk vkSl r  D; k gS\
1) 170 2) 172 3) 174 4) 176 5) 178

55. fo| ky;  E ds dqy fo| kfFkZ; ksa dh l a[ ; k ft Ugksusa r hl j s Js.kh i zkIr  dh gS] fo| ky;  B ds dqy fo| kfFkZ; ksa dh l a[ ; k ft Ugksusa i zFke Js.kh
i zkIr  dh gS dk fdr us i zfr ' kr  gS\
1) 45% 2) 50% 3) 55% 4) 60% 5) 65%

funsZ' k (i z- 56-60) : i zR; sd i z' u esa nks l ehdj .k (I) r Fkk (II) fn; ss x; s gSA nksuksa l ehdj .k dks gy dj ds mÙkj  nsaA

1) ; fn p > q 2) ; fn p  q 3) ; fn p < q

4) ; fn p  q 5) ; fn p = q ; k p r Fkk q ds chp dksbZ l aca/k LFkkfi r  ugha fd; k t k l dr k

56. I. 2.3p – 20.01 = 0 II. 2.9q – p = 0

57. I. p = 1764 II. q2 = 1764

58. I. p2 – 26p + 168 = 0 II. q2 – 25q + 156 = 0
59. I. p2 – 13p + 42 = 0 II. q2 + q – 42 = 0
60. I. 6p – 5q = –47 II. 5p + 3q = 11

funsZ' k (i z- 61-65) : fuEufyf[ kr  ykbu xzkQ esa o"kZ 2010 l s 2015 ds nkSj ku dEi uh A ds ykHk i zfr ' kr ] dEi uh B dh vk;
r Fkk dEi uh B ds [ kpZ dks n' kkZ; k x; k gSA
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61. o"kZ 2010 esa dEi uh A r Fkk dEi uh B ds ykHk i zfr ' kr  ds chp dk var j  D; k gS\
1) 5% 2) 7% 3) 11% 4) 12% 5) 15%

62. ; fn o"kZ 2011 essa dEi uh A dh vk;  ` 32.5 yk[ k Fkh r ks o"kZ 2011 esa dEi uh A r Fkk B ds ' kq)  ykHk dk ; ksxQy D; k Fkk\
1) ` 12.8 yk[ k 2) ` 13.2 yk[ k 3) ` 15 yk[ k 4) 16.5 yk[ k 5) buesa l s dksbZ ugha
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51. What is difference between the total number of students passed and the total number of students getting 1st class in the
exam ?
1) 1043 2) 1045 3) 1047 4) 1049 5) 1051

52. Total number of students who got 3rd class is what per cent of the total number of students passed ?
1) 26.5% 2) 27.5% 3) 28.5% 4) 29.5% 5) 30.5%

53. From which school is the number of students who got 1st class the maximum ?
1) A 2) B 3) C 4) E 5) F

54. What is the average number of students from and the six schools together who got either first class or third class ?
1) 170 2) 172 3) 174 4) 176 5) 178

55. Total number of students from school E who got third class is what per cent of the total number of students from school
B who got first class ?
1) 45% 2) 50% 3) 55% 4) 60% 5) 65%
Directions (Q. 56-60) : In each of these questions two equations (I) and (II) are given. You have to solve both the

equations and give answer.
1) if p > q 2) if p  q 3) if p < q
4) if p  q 5) if p = q or no relation can be established between p and q.

56. I. 2.3p – 20.01 = 0 II. 2.9q – p = 0

57. I. p = 1764 II. q2 = 1764

58. I. p2 – 26p + 168 = 0 II. q2 – 25q + 156 = 0
59. I. p2 – 13p + 42 = 0 II. q2 + q – 42 = 0
60. I. 6p – 5q = –47 II. 5p + 3q = 11

Directions (Q. 61-65) : Following line graph shows the percent profit of company A, income of company B and
expenditure of company B from 2010 to 2015.
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61. What is the difference between per cent profit of company A and company B in the year 2010 ?
1) 5% 2) 7% 3) 11% 4) 12% 5) 15%

62. If the income of company A in year 2011 was ̀  32.5 lakh, what was the sum of the net profit of company A and company
B in 2011 ?
1)  ̀12.8 lakh 2)  ̀13.2 lakh 3)  ̀15 lakh 4) 16.5 lakh 5) None of these
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63. fuEufyf[ kr  esa l s fdl  o"kZ esa dEi uh B dk ykHk i zfr ' kr  vf/kdr e Fkk\
1) 2011 2) 2012 3) 2013 4) 2014 5) 2015

64. ; fn o"kZ 2014 esa dEi uh A dk [ kpZ ` 45 yk[ k Fkk r ks o"kZ 2014 esa dEi uh A dk ' kq)  ykHk dEi uh B ds ' kq)  ykHk dk fdr us i zfr ' kr

gS\
1) 15% 2) 25% 3) 40% 4) 75% 5) 80%

65. ; fn o"kZ 2015 esa dEi uh A dh vk;  ` 90 yk[ k Fkh r ks dEi uh B dk ' kq)  ykHk dEi uh A ds ' kq)  ykHk l s fdr us i zfr ' kr  vf/kd gS\

1) 30% 2) 60% 3) 75% 4) 80% 5) 90%
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63. In which of the following years was the per cent profit of company B maximum ?
1) 2011 2) 2012 3) 2013 4) 2014 5) 2015

64. If the expenditure of company A in year 2014 was ̀  45 lakh the net profit of company A is what per cent of net profit of
company B in 2014 ?
1) 15% 2) 25% 3) 40% 4) 75% 5) 80%

65. If the income of company A in year 2015 was ` 90 lakh the net profit of company B is what per cent more than the net
profit of company A ?
1) 30% 2) 60% 3) 75% 4) 80% 5) 90%
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i z' ukoyh III
r kfdZd {ker k

funsZ' k (i z- 66-70) : fuEufyf[ kr  l wpukvksa dks è; kui woZd i <+r s gq,   uhps fn; s x,  i z' uksa dk mÙkj  nsaaA
, d l axBu esa vkB deZpkj h l i uk] mt hr ] ol he] ; wful ] t ghj ] r Ue; ] oa' k r Fkk t sfo; j  r hu vyx&vyx foHkkx t Sl sµ

i zksMD' ku] R & D r Fkk fMt kbu esa dk; Z dj r s gSA muesa l s i zR; sd fofHkUu j ax uhyk] i hyk] l ar j h] l Qsn] gj k] cSaxuh] dkyk r Fkk Hkwj k j ax
i l an dj r s gSa] i j Ur q t : j h ugha fd ; s bl h Øe esa gksaA r hu l s vf/kd deZpkj h , d gh foHkkx esa dk; Z ugha dj r s gSA

oa' k dks Hkwj k j ax i l an gS r Fkk og R & D foHkkx esa dk; Z ugha dj r k gSA t ghj  fMt kbfuax foHkkx esa dk; Z ugha dj r k gS r Fkk ml s
i hyk ; k l Qsn j ax i l an ugha gSA ol he] fMt kbfuax foHkkx esa dk; Z dj r k gS r Fkk ml s u r ks uhyk vkSj  u gh i hyk j ax i l an gSA ; wful ]
i zksMD' ku foHkkx esa dsoy mt hr  ds l kFk dk; Z dj r k gS t ks fd dkyk j ax i l an dj r k gSA l i uk r Fkk t sfo; j ] ol he ds l kFk dk; Z ughsa
dj r s gaSA og ft l s uhyk j ax i l an gS] fMt kbfuax foHkkx esa dk; Z dj r k gSA og ft l s l ar j h j ax i l an gS] i zksMD' ku foHkkx esa dk; Z dj r k
gSA og t ks fMt kbfuax foHkkx esa dk; Z dj r k gS] ml s u r ks l Qsn vkSj  u gh gj k i l an gSA t sfo; j  i hyk j ax i l an ugha dj r k gSA

66. t ghj  dks fuEufyf[ kr  esa l s dkSu l k j ax i l an gS\
1) l ar j h 2) gj k 3) Hkwjk 4) uhyk 5) buesa l s dksbZ ugha

67. fuEufyf[ kr  esa l s fdu deZpkfj ; ksa dk l ewg fMt kbfuax foHkkx esa dk; Z dj r k gS\
1) r Ue; – oa' k– ol he 2) mt hr – oa' k – ol he 3) oa' k– ol he– t ghj
4) r Ue; – oa' k– l i uk 5) buesa l s dksbZ ugha

68. fuEufyf[ kr  esa l s dkSu cSaxuh j ax i l an dj r k gS\
1) r Ue; 2) l i uk 3) ol he 4) Kkr  ugha fd; k t k l dr k5) oa' k

69. fuEufyf[ kr  esa l s fdl  foHkkx esa l i uk dk; Z dj r h gS\
1) i zksMD' ku 2) fMt kbfuax 3) R & D 4) 1 ; k 2 5) buesa l s dksbZ ugha

70. fuEufyf[ kr  esa dkSu l k l a; kst u l R;  gS\
1) oa' k– i zksMD' ku– dkyk 2) oa' k– fMt kbfuax– Hkwjk 3) r Ue; – R & D – gj k
4) l Hkh l R;  gSaA 5) buesa l s dksbZ ugha

funsZ' k (i z- 71-75) : uhps fn; s x; s i zR; sd i z' u esa] pkj  dFku vkSj  ml ds ckn r hu fu"d"kZ I, II vkSj  III fn; s x; s gSaA vki dks
l Hkh dFkuksa dks l gh ekuuk gS pkgs os Kkr  r Roksa l s fHkUu gh D; ksa u gks vkSj  r c fu.kZ;  yhft ; s fd dFkuksa esa nh x; h l wpuk ds
vuql kj  dkSu l s@l k fu"d"kZ r kfdZd : i  l s vuql j .k dj r k gS r Fkk mÙkj  nhft , A

71. dFku : l Hkh i kyr w dqÙks gSaA l Hkh dqÙks fcYyh gSaA
dqN fcYyh pwgs gSaA dqN pwgs cdj h gSaA

fu"d"kZ : I. dqN fcYyh i kyr w gSaA II. dqN cdj h fcYyh gSaA III. dqN pwgs dqÙks gSaA
1) dsoy I vuql j .k dj r k gSA 2) dsoy I r Fkk II vuql j .k dj r k gSA
3) dsoy I r Fkk III vuql j .k dj r k gSA 4) l Hkh vuql j .k dj r s gSa 5) buesa l s dksbZ ugha

72. dFku : dqN xqykc t Sl feu gSaA dqN t Sl feu fyyh gSaA
dqN t Sl feu eSj hxksYM gSaA dksbZ eSj hxksYM l u¶ykoj  ugha gSA

fu"d"kZ : I. dqN fyyh eSj hxksYM gSaA II. dksbZ fyyh eSj hxksYM ugha gSAIII. dksbZ l u¶ykoj  t Sl feu ugha gSA
1) dksbZ vuql j .k ugha dj r k gSA 2) dsoy I vuql j .k dj r k gSA 3) dsoy II vuql j .k dj r k gSA
4) dsoy III vuql j .k dj r k gSA 5) dsoy I ; k II vuql j .k dj r k gSA

73. dFku : dqN ¶ySV ?kj  gSaA dqN ?kj  caxys gSaA
l Hkh caxys gksVy gSaA l Hkh gksVy j sLVksj saV gSaA

fu"d"kZ : I. l Hkh caxys j sLVksj saV gSaA II. dqN ?kj  gksVy gSaA
III. dqN ?kj  j sLVksj saV gSaA

1) l Hkh vuql j .k dj r k gSA 2) dsoy I vuql j .k dj r k gSA
3) dsoy II r Fkk III vuql j .k dj r s gaSA 4) dsoy I r Fkk II vuql j .k dj r s gSaA 5) buesa l s dksbZ ugha
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Test III
Reasoning Ability

Directions (Q. 66-70) : Study the following information carefully and answer the questions given below:
There are eight employes Sapna, Ujit, Wasim, Yunis, Zaheer, Tanmay, Vansh and Xavier of an organisation working in

three departments viz— Production, R & D and Designing. Each of them has a different choice of colours, viz— Blue, Yellow,
Orange, White, Green, Voilet, Black and Brown but not necessarily in same order. There are no more than three employees in
any department.

Vansh likes Brown colour and does not work in R & D. Zaheer does not work in Designing and does not like either
Yellow or White colour. Wasim works in Desiging and likes neither Blue nor Yellow colour. Yunis works in production with
only Ujit, who likes Balck colour. Sapna and Xavier do not work in the same department as Wasim. The one who likes Blue
colour works in Designing. The one who likes Orange colour work in production. Those who work in Designing like neither
white nor Green colour. Xavier does not like Yellow colour.

66. Which of the following colours does Zaheer like ?
1) Orange 2) Green 3) Brown 4) Blue 5) None of these

67. Which of the following groups of employees works in Designing department ?
1) Tanmay – Vansh – Wasim 2) Ujit – Vansh – Wasim 3) Vansh – Wasim – Zaheer
4) Tanmay – Vansh – Sapna 5) None of these

68. Who among the following likes voilet colour ?
1) Tanmay 2) Sapna 3) Wasim 4) Can’t be determined 5) Vansh

69. In which of the following departments does Sapna work ?
1) Production 2) Designing 3) R & D 4) Either 1 or 2 5) None of these

70. Which of the followng combinations is true ?
1) Vansh – Production – Black 2) Vansh – Designing – Brown 3) Tanmay – R & D – Green
4) All are true 5) None is true

Directions (Q. 71-75) :  In each questions given below four statements are followed by three conclusions numbered I,
II and III. You have to take the given statements to be true even if they seem to be at variance from the commonly knows facts.
Read the conclusions and decide which logically follows from  the given statements disregarding commonly known facts
and give answer.

71. Statements : All pets are dogs. All dogs are cats.
Some cats are rats. Some rats are goat.

Conclusions : I. some cats are pets. II. Some goats are cats. III. Some rats are dogs.
1) Only I follows 2) Only I and II follow 3) Only I and III follow
4) All follows 5) None of these

72. Statements : Some roses are jasmine. Some jasmines are lilies.
Some jasmines are marigold. No marigold is sunflower.

Conclusions : I. Some lilies are marigold. II. No lily is marigold. III. No sunflower is jasmine.
1) None follows 2) Only I follows 3) Only II follows
4) Only III follows 5) Only either I or II follows.

73. Statements : Some flats are houses. Some houses are bunglows.
All bungalows are hotels. All hotels are restaurants.

Conclusions : I. All bunglalows are restaurants. II. Some houses are hotels.
III. Some houses are restaurants.

1) All follows 2) Only I follows 3) Only II and III follow
4) Only I and II follow 5) None of these
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74. dFku : dqN uhacw fepZ gSaA dqN fepZ cSaxu gSaA
dksbZ cSaxu feBkbZ ugha gSA l Hkh feBkbZ Mst VZ gSaA

fu"d"kZ : I. dksbZ cSaxu Mst VZ ugha gSA II. dqN fepZ feBkbZ gSaAIII. dqN Mst VZ feBkbZ gSaA
1) dsoy I vuql j .k dj r k gSA 2) dsoy III vuql j .k dj r k gSA
3) dsoy II r Fkk III vuql j .k dj r s gSaA 4) dksbZ vuql j .k ugha dj r k gSA 5) buesa l s dksbZ ugha

75. dFku : dqN vaxwj  i Ye gSaA dksbZ i Ye l ar j k ugha gSA
l Hkh l ar j s l sc gSaA dqN l sc ve: n gSaaA

fu"d"kZ : I. dksbZ i Ye l sc ugha gSA II. dqN vaxwj  ve: n gSasAIII. dqN l ar j s ve: n gSaA
1) dsoy I vuql j .k dj r k gSA 2) dsoy II vuql j .k dj r k gSA 3) dsoy III vuql j .k dj r k gSA
4) dksbZ vuql j .k ugha dj r k gSA 5) buesa l s dksbZ ugha

funsZ' k (i z- 76-80) : bu i z' uksa esa] dFku esa vyx&vyx r Roksa ds chp , d l aca/k n' kkZ; k x; k gSA dFkuksa ds nks fu"d"kZ fn; s x; s
gSaA mRr j  nhft , %&

1) ; fn dsoy fu"d"kZ I l R;  gSA 2) ; fn dsoy fu"d"kZ II l R;  gSA
3) ; fn ; k r ks fu"d"kZ I ; k II l R;  gSA 4) ; fn u r ks fu"d"kZ I u gh II l R;  gSA
5) ; fn nksuksa fu"d"kZ I vkSj  II l R;  gaSA

76. dFku : Y > Q > R  S, Y = Z, Y  A
fu"d"kZ : I. Z > S II. S > A

77. dFku : Q  T, T  Z, Y = Z, Y > A
fu"d"kZ : I. T = Y II. Y > Q

78. dFku : T  U, U > S, U = X
fu"d"kZ : I. S < T II. T < X

79. dFku : N  A = T, B < H  M > T
fu"d"kZ : I. A < H II. N  M

80. dFku : K  L, L > M, M  O < P, Q = K
fu"d"kZ : I. Q = M II. P > L

funsZ' k (i z- 81-84) : fuEufyf[ kr  l wpukvksa dks è; kui woZd i <+r s gq,   uhps fn; s x,  i z' uksa dk mÙkj  nsaaA

j kgqy t ks fd , d fo| kFkhZ gS i zfr fnu fo| ky;  t kr k gSA l cl s i gys og vi us ?kj  l s 80 ehVj  i woZ dh r j Q pyr k gS r Fkk fQj
nkbZa r j Q eqM+r k gS vkSj  40 ehVj  pyr k gSA og nksckj k nkbZa r j Q eqM+r k gS r Fkk 60 ehVj  pyr k gSA vUr r % og nkbZa r j Q eqM+r k gS
vkSj  fo| ky;  i gq¡pr k gS t ks fd ml l s 20 ehVj  dh nwj h i j  gSA

, d fnu fo| ky;  esa yEch dr kj  yxh gqbZ Fkh r Fkk t c j kgqy i gq¡pk ?kM+h esa 9 : 45 ct s gq,  FksA ml s FkksM+h fpar k gks j gh Fkh fd dgha
ml s fo| ky;  esa i gq¡pus esa nsj  u gks t k, A i zR; sd fo| kFkhZ fo| ky;  ds vanj  i gq¡pus esa Ms<+ feuV dk l e;  ys j gk FkkA

81. fo| ky;  j kgqy ds ?kj  l s fdl  fn' kk esa fLFkr  gS\
1) nf{k.k 2) nf{k.k&i woZ 3) mÙkj &i woZ 4) mÙkj &i f' pe 5) i woZ

82. j kgqy } kj k fo| ky;  i gq¡pus esa dqy r ;  dh xbZ nwj h D; k gS\
1) 200 eh 2) 80 eh 3) 160 eh 4) 120 eh 5) 100 eh

83. ; fn j kgqy ds vkxs 30 fo| kFkhZ gS r ks og fdl  l e;  fo| ky;  esa nkf[ ky gqvk\
1) 10 : 15 ct s 2) 10 : 30 ct s 3) 10 : 05 ct s 4) Kkr  ughaa fd; k t k l dr k5) buesa l s dksbZ ugha

84. fo| ky;  r Fkk j kgqy ds ?kj  ds chp dh U; wur e nwj h D; k gS\

1) 320  eh 2) 325  eh 3) 520  eh 4) 220  eh 5) Kkr  ugha fd; k t k l drk
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74. Statements : Some lemons are chilies. Some chilies are brinjals.
No brinjal is sweet. All sweets are desserts.

Conclusions : I. No brinjals is dessert. II. Some chilies are sweets. III. Some desserts are sweets.
1) Only I follows 2) Only III follows 3) Only II and III follow 4) None follows 5) None of these

75. Statements : Some  grapes are plums. No plum is orange.
All oranges are apples. Some apples are guavas.

Conclusions : I. No plum is apple. II. Some grapes are guavas. III. Some oranges are guavas.
1) Only I follows 2) Only II follows 3) Only III follows 4) None follows 5) None of these

Directions (Q. 76-80) : In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusion. Mark answer.

1) if only conclusion I is true. 2) If only conclusion II is true.
2) If either conclusion I or II is true. 3) if neither conclusion I nor II is true.
5) If both conclusion I and II are true.

76. Statements : Y > Q > R  S, Y = Z, Y  A
Conclusions : I. Z > S II. S > A

77. Statements : Q  T, T  Z, Y = Z, Y > A
Conclusions : I. T = Y II. Y > Q

78. Statements : T  U, U > S, U = X
Conclusions : I. S < T II. T < X

79. Statements : N  A = T, B < H  M > T
Conclusions : I. A < H II. N  M

80. Statements : K  L, L > M, M  O < P, Q = K
Conclusions : I. Q = M II. P > L

Directions (Q. 81-84) :Study the following information carefully and answer the questions given below:

Rahul, who is a student going to school everyday. At first he walked 80 m towards east from his home and took a right
turn and walked 40 m. He again took a right turn and walked 60 m. Finally he took a right turn and reached the school, which
was 20 metres away.

One day, there was a long queue at the school and when Rhaul reached it was 9 : 45 O’clock. He was a little worried about
he would be late to reach his school. It was taking one and half minutes for every student to enter the school.

81. In which direction was the school located from Rahul’s home ?
1) South 2) South-East 3) North-East 4) North-West 5) East

82. What was the total distance covered by Rahul to reach school ?
1) 200 m 2) 80 m 3) 160 m 4) 120 m 5) 100 m

83. If there were 30 students ahead of Rahul, at what time did he enter the school?
1) 10 : 15 O’clock 2) 10 : 30 O’clock 3) 10 : 05 O’clock 4) Can’t be determined 5) None of these

84. What is the shortest distance between the school to Rahul’s home ?

1) 320  m 2) 325  m 3) 520  m 4) 220  m 5) Can’t be determined
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85. , d cPps dh r j Q b' kkj k dj r s gq,  j kfxuh dgr h gS “og esj h nknh ds bdykSr s i q=k dk i q=k gSA” r ks yM+ds dh ek¡ j kfxuh l s fdl
i zdkj  l acaf/kr  gS\
1) ekr k 2) pkph 3) cgu 4) dft u 5) buesa l s dksbZ ugha

86. N, U dh cgu gS r Fkk V, U dk HkkbZ gSA Z, U dk fi r k gS r Fkk X. Y dh i q=kh gS t ks fd N dh ek¡ gS r ks Y dh fdr uh i qf=k; ka gS\
1) ,d 2) nks 3) rhu 4) Kkr  ugha fd; k t k l dr k5) buesas l s dksbZ ugha

funsZ' k (i z- 87-91) : fuEufyf[ kr  l wpukvksa dks è; kui woZd i <+r s gq,   uhps fn; s x,  i z' uksa dk mÙkj  nsaaA

, d Iys Ldwy esa 8 cPps A, B, C, D, E, F, G r Fkk H , d òÙkkdkj  est  ds pkj ksa r j Q dsUnz l s ckgj  dh r j Q eq[ k dj ds cSBs gq,
gSa muesa l s i zR; sd fofHkUu ekg t uoj h] Qj oj h] ekpZ] vi zSy] ebZ] t wu r Fkk vxLr  esa i Snk gq,  gSa] i j Ur q t : j h ugha fd ; s bl h Øe esa
gksaA

D, B ds ck, a l s nwl j s LFkku i j  cSBk gSA C, A ds ck, a l s r hl j s LFkku i j  cSBk gSA C r Fkk A vi zSy l s i gys i Snk gq,  gSaA og t ks t wu
esa i Snk gqvk gS] A r Fkk B ds Bhd chp cSBk gqvk gSA E, t ks l cl s cM+k gS] A ; k D dk fudVr e i M+ksl h ugha gSA H, dsoy D l s cM+k gSA
H, G ds nk, a l s nwl j s LFkku i j  cSBk gSA G, E dk fudVr e i M+ksl h ugha gSA A, C l s NksVk gSA B, F l s i gys i Snk gqvk gSA

87. dkSu l ewg esa nwl j k l cl s cM+k gS\
1) A 2) C 3) B 4) G 5) buesa l s dksbZ ugha

88. dkSu F ds ck, a l s r hl j s LFkku i j  cSBk gS\
1) og t ks ekpZ esa i Snk gqvk gSA 2) og t ks vi zSy esa i Snk gqvk gSA
3) og t ks t qykbZ esa i Snk gqvk gSA 4) og t ks t wu esa i Snk gqvk gSA
5) buesa l s dksbZ ugha

89. H fdl  ekg esa i Snk gqvk Fkk\
1) ekpZ 2) Qjojh 3) vi zSy 4) t qykbZ 5) buesa l s dksbZ ugha

90. B ds l anHkZ esa fuEufyf[ kr  esa l s dkSu l k dFku l R;  gS\
1) B, H ds nk, a l s pkSFks LFkku i j  gSA 2) og t ks Qj oj h ekg esa i Snk gqvk gS B ds Bhd ckbZa r j Q gSA
3) B, H l s NksVk gSA 4) E r Fkk D ds chp pkj  O; fDr  cSBs gS
5) buesa l s dksbZ ugha

91. vi zSy ekg esa i Snk gksus okys ds Bhd foi j hr  dkSu cSBk gS\
1) A 2) H 3) F 4) D 5) buesa l s dksbZ ugha

funsZ' k (i z- 92-96) : fuEufyf[ kr  l wpukvksa dks è; kui woZd i <+r s gq,   uhps fn; s x,  i z' uksa dk mÙkj  nsaaA

ckj g O; fDr  A, B, C, D, E, F, T, U, V, W, X, r Fkk Y nks l ekUr j  dr kj ksa esa cSBs gSaA dr kj  1 esa A, B, C, D, E r Fkk F cSBs gaS r Fkk mu
l Hkh dk eq[ k nf{k.k dh r j Q gS t cfd dr kj  2 esa T, U, V, W, X r Fkk Y cSBs gaS r Fkk mu l Hkh dk eq[ k mÙkj  dh r j Q gS i j Ur q t : j h
ugha fd ; s bl h esa gksaA

V, t ks fd dr kj  esa vafr e Nksj  i j  gS] Y ds ck, a l s nwl j s LFkku i j  gSA U r Fkk T ds chp nks O; fDr  gSaA F r Fkk A ds chp dsoy , d
O; fDr  cSBk gSA B, D ds nk, a l s r hl j s LFkku i j  cSBk gSA B, V ; k Y ds foi j hr  ugha cSBk gSA F r Fkk A, V ds foi j hr  ugha cSBs gaSA C, F
ds cxy esa cSBk gSA W, t ks A ds foi j hr  esa ugha cSBk gS og U ds cxy esa Hkh ugha cSBk gSA

92. dkSu D ds foi j hr  cSBk gS\
1) U 2) Y 3) W 4) X 5) T

93. E r Fkk F ds chp fdr us O; fDr  cSBs gS\
1) pkj 2) rhu 3) nks 4) ,d 5) buesa l s dksbZ ugha
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85. Pointing to a child, Ragini says, “He is the son of my grandmother’s only son.” How is the boy’s mother related to
Ragini?
1) Mother 2) Aunt 3) Sister 4) Cousin 5) None of these

86. N is sister of U and V is brother of U. Z is father of U and X is daughter of Y, who is mother of N. How many daughter’s
does  Y have ?
1) One 2) Two 3) Three 4) Can’t be determined 5) None of these

Directions (Q. 87-91) : Study the following information carefully and answer the questions given below:

In a play school eight baby A, B, C, D, E, F, G and H are sitting around a circular table, facing outside from the centre.
Each of them was born in a different months of a year—January, February, March, April, May, June, July and August but not
necessarily in the same order.

D is sitting second to the left of B. C is sitting third to the left of A. C and A were born before April. Only the one who born
in June is sitting exactly between A and B. E, who is the eldest, is not an immediate neighbour of A or D. H is older than only
D. H is sitting second to the right of G. G is not an immediate neighbour of E. A is younger than C. B was born before F.

87. Who is the second oldest in the group ?
1) A 2) C 3) B 4) G 5) None of these

88. Who is sitting third to the left of F ?
1) The one who born in March. 2) The one who born in April.
3) The one who born in July. 4) The one who born in June.
5) None of these

89. In which month was H born ?
1) March 2) February 3) April 4) July 5) None of these

90. Which of the following statements is true regarding B ?
1) B is sitting fourth to the right of H. 2) The one who was born in February is on the immediate left of B.
3) B is younger than H. 4) There are four persons sitting between E and D.
5) None of these

91. Who sits exactly opposite the one who was born in April ?
1) A 2) H 3) F 4) D 5) None of these

Directions (Q. 92-96) : Study the following information carefully and answer the questions given below:

Twelve people A, B, C, D, E, F, T, U, V, W, X, and Y are sitting in two parallel rows. In row-1 A, B, C, D, E and F are seated
and all of them face south while in row-2 T, U, V, W, X and Y seated and all of them face north but not necessarily in the same
order. Therefore in the given sitting arrangement each person seated in a row faces another member of the other row.

V, who is at one of the ends of the row, is second to the left of Y. There are two persons between U and T. There is only
one person sits between F and A. B sits third to the right of D. B doesn’t sit opposite either V or Y. F and A don’t sit opposite
V. C sits adjacent to F. W, who doesn’t sit opposite A, is not adjacent to U.

92. Who sits opposite D ?
1) U 2) Y 3) W 4) X 5) T

93. How many persons sit between E and F ?
1) Four 2) Three 3) Two 4) One 5) None of these
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94. ; fn cSBus dh nh xbZ O; oLFkk esa E, X l s l acaf/kr  gS ml h r j hds l s B, T l s l acaf/kr  gS r ks ml h r j hds l s fuEufyf[ kr  esa l s dkSu
D l s l acaf/kr  gS\
1) U 2) V 3) W 4) Y 5) buesa l s dksbZ ugha

95. dkSu dr kj  esa vafr e Nksj  i j  cSBk gS\
1) V, T 2) B, D 3) V, W 4) E, A 5) buesa l s dksbZ ugha

96. C ds l anHkZ esa fuEufyf[ kr  esa dkSu l k dFku l R;  gS\
1) Y, C ds foi j hr  gSA 2) U, C ds foi j hr  cSBs O; fDr  dk fudVr e i M+ksl h ugha gSA
3) F, C ds cxy esa ugha gSA 4) C, nk, a Nksj  l s nwl j s LFkku i j  cSBk gSA
5) T ml  O; fDr  ds foi j hr  cSBk gS t ks fd C ds ck, a l s r hl j s LFkku i j  cSBk gSA

funsZ' k (i z- 97-100) : fuEufyf[ kr  l wpukvksa dks è; kui woZd i <+r s gq,   uhps fn; s x,  i z' uksa dk mÙkj  nsaaA

, d fuf' pr  dwV Hkk"kk esa ‘net income from operations’ dks ‘P81 S84 Q85 K82’ fy[ kr s gSa]  ‘net profit from ordinary activities’
dks ‘Q85 S72 T91 P81 R87’ fy[ kr s gSa] ‘the ordinary income’ dks ‘K82 N75 S72’ fy[ kr s gSa r Fkk ‘net profit for the period’ dks ‘L77
N75 M93 R87 P81’ fy[ kr s gSaA

97. ‘M93’ fdl ds fy,  i z; qDr  gqvk gS\
1) for 2) profit 3) period 4) Kkr  ugha fd; k t k l dr k5) buesa l s dksbZ ugha

98. ‘operation’ ds fy,  fuEufyf[ kr  esa l s dkSu l k dwV gS\
1) Q85 2) S84 3) K82 4) Kkr  ugha fd; k t k l dr k5) buesa l s dksbZ ugha

99. fuEufyf[ kr  esa l s dkSu l k dwV ‘profit from activities’ dks i znf' kZr  dj r k gS\
1) R87 Q85 T91 2) C77 Q85 R87 3) R85 Q87 T91 4) R87 Q87 T91 5) buesa l s dksbZ ugha

100. ‘income tax’ ds fy,  fuEufyf[ kr  esa l s dkSu l k dwV gks l dr k gS\
1) K82 Q85 2) K82 R87 3) K82 H52 4) K82 L77 5) buesa l s dksbZ ugha
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94. If E is related to X in the same way as B is related to T, based on the given arrangement. Who among the following is
related to D, following the same pattern ?
1) U 2) V 3) W 4) Y 5) None of these

95. Who sits at extreme ends of the row ?
1) V, T 2) B, D 3) V, W 4) E, A 5) None of these

96. Which of the following statements is true about C ?
1) Y sits opposite C. 2) U is not neighbour of the person who sits opposite C
3) F is not adjacent to C. 4) C sits second from the right end.
5) T sits opposite that the person who sits third to the left of C.

Directions (Q. 97-100) : Study the following information carefully and answer the questions given below:

In a certain code language ‘net income from operations’ is written as ‘P81 S84 Q85 K82’, ‘net profit from ordinary
activities’ is written as ‘Q85 S72 T91 P81 R87’, ‘the ordinary income’ is written as ‘K82 N75 S72’ and ‘net profit for the period’
is written as ‘L77 N75 M93 R87 P81’.

97. What does ‘M93’ stands ?
1) for 2) profit 3) period 4) Can’t be determined 5) None of these

98. Which of the following is the code for ‘operation’ ?
1) Q85 2) S84 3) K82 4) Can’t be determined 5) None of these

99. Which of the following represent the code for ‘profit from activities’ ?
1) R87 Q85 T91 2) C77 Q85 R87 3) R85 Q87 T91 4) R87 Q87 T91 5) None of these

100. Which of the following may be the code for ‘income tax’ ?
1) K82 Q85 2) K82 R87 3) K82 H52 4) K82 L77 5) None of these
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1. 4; Replace ‘into’ with ‘in’
2. 1; Insert ‘the’ before ‘bank’
3. 2; Replace ‘tough’ with ‘tougher’
4. 2; Replace ‘launch’ with ‘launched’
5. 5
(6–10): ACEDB

6. 1 7. 3 8. 5 9. 4 10. 2
11. 5 12. 1 13. 3 14. 2 15. 4
16. 1 17. 3 18. 1 19. 2 20. 1
21. 4 22. 1 23. 3 24. 1 25. 2
26. 3 27. 1 28. 1 29. 2 30. 4

31. 2; 2–)30(29.53   = 7.30 × 900 = 6570

32. 4; ? = 1135
10095.192100

1135
)13.01335(–5.366 




 = 17

33. 5; ? = 85113
711115260




 = 924

34. 2; 105 × ? = (304 × 14) – 2786 = 4256 – 2786

 ? = 105
1470

 = 14

35. 3; ? = 3 33 )102(1061208   = 102

36. 2; +42, +62, +82, +102, +122, .........
37. 1; ×12 – 11, ×10 – 9, ×8 – 7, ×6 – 5, .........
38. 5; ×3 – 5, ×3 – 5, ×3 – 5, ×3 – 5, .........
39. 1; (99)2, (98)2, (97)2, (96)2, (95)2, (94)2, .........
40. 4; 73 – 4 = 339, 93 + 4 = 733, (11)3 – 4 = 1327

(13)3 + 4 = 2201, (15)3 – 4 = 3371, (17)3 + 4 = 4917
41. 3; Let the initital cost price be x

Then, 1.35x – 1.24x = 528
 0.11x = 528

  x = 11.0
528

 = 4800

  Require S. P. = 100
1404800  = 6720

42. 2; Let the age of Rahul, Ajay and Vijay be x, y and z
respectively,

Here, 
2

yx 
 = 51

 x + y = 102 .......(i)
Similarly y + z = 72 ........(ii)

x + z = 86 .........(iii)
Solving equation I, II and III, we get, x = 58, y = 44, z = 28
 After  12 years Ajay’s age = 44 + 12 = 56 years  and

Vijay’s age = 28 + 12 = 40 years.

 Ratio = 5
7

40
56

  = 7 : 5

43. 2; Amount aftger three years = 100
112

100
108

100
1057 

 = 8.89056 lakh = 889056
 C.I. = 889056 – 700000 = ̀  189056

44.1; There are nine letters. Taking the three vowels (E, E, A)
as a unit, total number of letters becomes 7.

D is repeated twice, and E is repeated twice among vowels.
 Total number of arrangements

 = !2
!3

!2
!7
  = 2520 × 3 = 7560

45. 3; n(s) = No. of ways in which seven persons can sit
around a round table = 6!
As three persons can be taken as a unit total persons
= 5 and number of ways in whcih five persons can sit
around the table = 4! and three persons can sit in 3!
ways among  themselves.

 n(E) = 4! × 3!

 P(E) = 5
1

!6
!3!4




46. 2; Let length = x
breadth = y
x + y = 81
xy = 828

(x – y) = 4828–)81( 2 

= 3312–6561

= 3249
= 57

 x = 69  and y = 12

  Original length = 100
230
69

  = 30 cm

  Perimetre = 2(30 + 12) = 2 × 42 = 84 cm
47. 2;

Let their speedsx be u km/hr and v km/hr

 u + v = 8
600

 = 75 .....(i)

and u – v = 15 km/hr ....(ii)
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From equation (I) & (II), u = 45 km/hr and v = 30 km/hr
 Required ratio = 2 : 3

48. 5; Let the work be completed in x days.

A’s one day’s work = 30
1

 A’s 10 days, work = 3
1

30
10



B’s one day’s work = 45
1

[B’s (x – 5) days] work = 45
5–x

C’s one day’s work = 60
1

 C’s x days work = 60
x

 6045
5–

3
1 xx

  = 1

 1
180

320–460


 xx

 1
180

407


x

 7x = 180 – 40
 7x = 140

 x = 7
140

 = 20 days

49. 4; Daily earnings of A + B + C = 
11

3905
 = 355 ...(i)

Daily earnings of A + C = 13
3055

 = 235 ...(ii)

Daily earnings of B + C = 17
4760

 = 280 ...(iii)

From (i) and (iii), Daily earnings of A = 355 – 280 = 75
 Earnings of A in 15 days = 75 × 15 = 1125

 60% of 1125 = 100
601125

 =  ̀  675

50. 3; Let the distance between p and q be x km and speed
of train y km/hr.

 y
x

 = 33 ....(i)

10–y
x

 = 55 ...(ii)

Solving equations (i) & (ii)
x = 825 km, y = 25 km/hr

51. 4; For A, 3rd class = 20% = 35

 Total = 100
20
35

  = 175

 1st class = 36% pf 175 = 63
Similarly we will find for other schols also.
 Total passed = 1610 and total 1st class = 561
 Difference = 1610 – 561 = 1049

52. 3; Total (3rd class) = 459
Total passed = 1610

 Percentage = 1610
100459

   28.5%

53. 4; A = 63, B = 120, C = 75, D = 112, E = 126, F = 65
54. 1; Total (1st) = 63 + 120 + 75 + 112 + 126 + 65 = 561

Total (3rd) = 35 + 36 + 100 + 80 + 78 + 130 = 459
 Total (1st or 3rd) = 561 + 459 = 1020

 Average = 6
1020

 = 170

55. 5; B(1st class) = 100
50

15
10036




 = 120

E(3rd class) = 78

Required percentage = 100
120

8



 = 65%

56. 1;
I. 2.3p – 20.01 = 0

 p = 3.2
01.20

 = 8.7

II. 2.9q – p = 0
 p = 2.9q

 q = 9.2
7.8

 = 3

Hence, p > q
57. 2;

I. p = 1764
 p = 42
II. q2 = 1764
 q = ± 42 [p  q]

58. 5;
I. p2 – 26p + 168 = 0
 p2 – 12p – 14p + 168 = 0
 p(p – 12) –14(p – 12) = 0
 (p – 12)(p – 14) = 0
 p = 12, 14
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II. q2 + 25q + 156 = 0
 q2 – 13q – 12q + 156
 q(q – 13) – 12(q – 13) = 0
 (q – 13)(q – 12) = 0
 q = 12, 13

59. 2;
I. p2 – 13q + 42 = 0
 p2 – 6p – 7p + 12 = 0
 p(p – 6) – 7(p – 6) = 0
 (p – 6)(p – 7) = 0
 p = 6, 7
II. q2 + q – 42 = 0
 q2 + 7q – 6q – 42 = 0
 q(q + 7) – 6(q + 7) = 0
 (q + 7)(q – 6) = 0
 q = 6, –7

60. 3; 

 p = 43
86–

 = –2

5p + 3q = 11
 3q = 11 + 10

 q = 3
21

 = 7 [p < q]

61. 1; Percentage profit of A = 40%

Percentage profit of B = 100
36

36–6.48
  = 35%

 Difference = 40 – 35 = 5%
62. 4; Income of A = 32.5

Percentage  profit of A = 25%

 Expenditure of A = 25100
5.32


 = 26 lakh

 Profit of A = 32.5 – 26 = 6.5 lakh
Profit of B = 35 – 25 = 10 lakh
Net profit of A and B = 10 + 6.5 = 16.5 lakh

63. 3; 2013 ; Percentage profit = 100
44

44–77
  = 75%

64. 1; Expenditure of A = 45 lakh

 Income of A = 100
11045  = 49.5 lakh

 Profit of A = 4.5 lakh and
Profit of B = 80 – 50 = 30 lakh

 % = 100
30

5.4
  = 15%

 65. 4; Income of A = 90 lakh

Expenditure of A = 120
10090  = 75 lakh

 Profit of A = 15 lakh,
Profit of B = 72 – 45 = 27 lakh

 Required percentage = 15
1200100

15
15–27

  = 80%

(66-70)

Person Department Colour

Sapna R & D Yellow

Tanmay Designing Blue

Ujit Production Black

Vansh Designing Brown

Wasim Designing Violet

Xavier R & D White

Yunis Production Orange

Zaheer R &D Green
66. 2; 67. 1; 68. 3; 69. 3; 70. 2;
(71-75)
71. 1;

(I) Conclusion I follows.
(II) There is no relation between goat and cat. So,

conclusion II doesn’t follow.
(III) There is no relation between rat and dog. So,

concusion III also doesn’t follow.
72. 5;

(I) Conclusion I doesn’t follow.
(II) Conclusion II doesn’t follow.
But both are complamentary pair.
(III) Conclusion III doesn’t follow.
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73. 1;

(I) Conclusion I follows.
(II) Conclusion II also follows.
(III) Conclusion III also follows.

74. 2;

(I) Conclusion I doesn’t follow.
(II) Conclusion II also doesn’t follow
(III) Conclusion III follow.

75. 4;

(I) Conclusion I doesn’t follow.
(II) Conclusion II also doesn’t follow.
(III) Conclusion III also doesn’t follow.

(76-80)
76. 1; Given :

Y > Q > R S ...(i)
Y = Z ....(ii)
Y  A ...(iii)
Combining (i),  (ii) and (iii), we get
A  Z = Y > Q > R  S
(I) Z > S is true. So, conclusion I is true.
(II) S > A, we cannot compare A and S. So, conclusion II

is not true.
77. 4; Given :

Q  T ...(i)
T  Z ...(ii)
Y = Z ...(iii)
Y > A ....(iv)
Combining (i), (ii), (iii) and (iv), we get
Q  T  Z =Y > A
(I) T = Y is not true. So, conclusion I is not true.
(II) Y > Q, we can’t compare Y and Q. So, conclusion II

also not true.
78. 4; Given :

T  U ...(i)
U > S ...(ii)
U = X ...(iii)
Combining (i) (ii) and (iii), we get
T  U = X > S

(I) S < T, we can’t compare S and T. So, conclusion I is
not true.

(II) T < X is not true. So, conclusion II is not true.
79. 1; Given :

N  A = T ...(i)
B < H  M > T ...(ii)
Combining (i) and (ii), we get
N  A = T < M  H > B
(I) A < H is true. So, conclusion I is true.
(II) N  M is not true. So, conclusion II is not true.

80. 4; Given :
K  L ...(i)
L > M ...(ii)
M  O < P ....(iii)
Q = K ....(iv)
Combining (i), (ii), (iii) and (iv), we get
Q = K  L > M  O < P
(I) Q = M, we can’t compare Q and M. So, conclusion I is

not true.
(II) P > L, we can’t compare  P and LK. So, conclusion II

is also not true.
(81-84)

81. 2;
82. 1; Total distance = 80 + 40 + 60 + 20 = 200 m
83. 2; If total 30 students ahead of Rahul So, Rahul will take

to enter the school
= 30 × 1.5 = 45 minutes.

9 : 45 + 45 = 10 : 30 O’clock

84. 4; Shortest distance M Q = 22 (QR)(MR) 

= 22 (20)(20) 

= 004004 

= 008   = 220  m
85. 4; Child = Ragini grandmother’s only son’s son = Ragini’s

father’s son = Ragini’s brother. So, mother of the child
is Ragini’s mother.

86. 4;
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(87-91)

87. 2; 88. 1; 89. 4; 90. 2; 91. 5;
(92-96)

92. 5; 93. 3; 94. 1; 95. 4; 96. 1;
(97-100)

net – P81
income – K82
from – Q85
operation – S84
profit – R87
ordinary – S72
activities – T91
for – M93/L77
the – N75
period – L77/M93

97. 4; 98. 2; 99. 1; 100. 3;

fg
abhiram




